Exam 2 Sample Questions

1. You observe a wheel that is rotating clockwise (as you view it) and speeding up its rate
of rotation. Which is true?

A. The angular velocity points away from you and the angular acceleration is zero.

B. The angular velocity points away from you and the angular acceleration points
toward you.

C. Both the angular velocity and the angular acceleration point away from you.

D. The angular velocity points towards you and the angular acceleration is zero.

C. Both the angular velocity and the angular acceleration point towards you.
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2. A ball of mass m strikes a massive wall at speed v, at an angle 0 with
the normal to the wall. It bounces off with the same speed and angle.
If the ball is in contact with the wall for a time ¢, what is the
magnitude of the impulse applied to the ball by the wall?
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3. A block is pivoted about its center. A 5.0 N force is applied 4.0 m from the center and
another at 2.0 m from the center. Both forces act at 30° as shown. The magnitude of the
net torque about the center is

A. ONm Ll _____ o e _A40m_ _ 3
B. 43Nm 30° >~ 2.0m

C. 5.0Nm
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E. 15N'm
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4. Point A is halfway between point B and the axis of rotation of a solid circular platform
as shown. Given these three statements;

I. Point A has twice the angular velocity of point B.
II. The angular velocity vector is in the positive X direction. CD
II1. Point A and point B have the same angular acceleration.

Which of the above statements are true?

I only

IT only

I only

I and III only
II and III only
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Consider a long thin rod of uniform density (mass M and length L) that is rotated about an
axis that is perpendicular to its length and located one sixth of the length from one end, as
shown in the diagram. What is the moment of inertia for the rod about this axis?
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6 A wheel is spinning at 18 rad/s but is slowing with a time-varying angular acceleration
that has a magnitude given by (4.0 rad/s*) t. The wheel will slow down to half its initial
speed in a time of

A. 1.5s
B. 2.1s
C. 23s
D. 30s
E. 45s
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A rock is thrown into the air. At the very top of its trajectory, the velocity of the rock is level
with the ground and has a magnitude v. A person standing on the ground at point P observes the
rock at angle 0 above the horizon as shown. The angular momentum of the rock about the point
P at the moment it’s at the top of its trajectory has a magnitude given by

A.mv
B.mvD sin @
C.mvD cos @
D.mvD tan @
E. 0(zero)
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8 A uniform rod of mass m and length L swings downward, pivoting about a point at
the top of the rod. Which of the following is a true statement as the rod swings

freely downward?
A. The angular momentum of the rod about the pivot is conserved. ;/
B. The rod has a constant torque acting on it as it swings \
C. The rod swings down with a constant angular velocity.
D. The rod swings down with a constant angular acceleration.

=

None of the above.
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9 Two identical railway cars with the same mass are travelling in the same direction along a

straight
speed o

and level section of rail. One car is travelling at a speed of 3v and the other at a
f v. The faster car strikes the back of the slower car and they link together. What

is the final speed of the combined pair?

MY 0w

2.00v
2.24 v
3.00v
3.16 v
4.00v
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Two vectors A and B are shown. What is the direction of A x B ?

A. Into the page

B. Out of the page ‘A/

C. Along A
D. Along B

E. Towards the bottom of the page
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1 1 A student stands upon a freely-rotating platform with some initial angular speed, holding
weights in both hands. The student then pulls the weights inwards. Which of the
following is a true statement concerning the student and the weights?

()

A. The moment of inertia decreases and the angular speed also decreases
B. The moment of inertia increases and the angular speed also increases
C. The moment of inertia increases, and he angular speed decreases

D. The moment of inertia decreases and the angular speed increases

E. None of the above.
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1 2 The vector torque about the ongin due to a force F=(IN)i + (—3)\’)} acting at the point

13

R=(2m) i would be

A. ;=(2N-m)L: B. 7= (—6N - m)k
C. r=(2N-m)i D. r=(6N-m)k
E. r=0 N'm
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Two blocks are suspended by a cord overa pulley. The masses of the
blocks and the pulley are as indicated in the diagram. The blocks are
free to move and the ideal cord moves over the pulley without
slipping or shiding. There is no friction in the pulley axle. Which of
the following is the correct ranking as the 2m mass accelerates

downwards?
Ty
A mg<T:<T)<2mg
B. mg=T:=T)=2mg
C.mg<Ta=T2<2mg
D. mg=T:<T)=2mg
E. None of the above
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1 4 Two disks are mounted on low-friction bearings on a common
shaft. The bottom disk has a rotational inertia I and is spinning
with angular velocity . The top disk has rotational inertia 21 9] E“_.j
and is initially at rest as shown. The top disk is dropped onto the \L
bottom disk along the shaft. They couple together and have a
final common angular velocity of:

A w/3 ]
B. w/V3
C. w/2
D. w/V2
E. 2w/3
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1 5 A force is given by F(t) = 3.0 t2. It acts on an object from t = 0 until t = 3.0 s. The object
has a mass of 9.0 kg and starts from rest. What is the speed of the object at 3.0 seconds?

2.4 m/s
3.0 m/s
5.2 m/s
18 m/s
27 m/s
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16 . A wheel is initially rotating at 18.0 rad/s and slows down with a non-constant angular
acceleratlon that has a magnitude given by (2.00 rad/s*) t2. The wheel will stop in a time

A. 2.00s
B. 2.08s
C. 2.62s

E. 9.00s
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17 . Four squares of equal mass and sides of length L are

arranged as shown with the origin at the lower left. The
(x,y) coordinates of the center of mass of the object are:

A. (3L/2,3L/16)

3 (3L/2,3LA8
D GLA.L I (0,0)

E. (3L/2,3LR2)
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1:

Car A of mass 800 kg and car B of mass 1200 kg are
headed towards each other as shown (top view).
Immediately before impact, car A has a speed of
30.0 m/s and makes and angle of 40° with the x-
axis as shown. Car B has a speed 0f 20.0 m/s and
makes and angle of 75° with the y-axis as shown.

-> <

After the collision, the cars stick together and

0 \ s,
move as one. 40 \ 7 / —

a) What is the velocity of the cars immediately after the 75
collision, expressed in unit vector component
(Cartesian) notation. A

b) What is the force that Car A exerts on Car B during 30 wn /g
the collision, if the collision lasts 0.420 seconds?
Express your answer in unit vector component
(Cartesian) notation.

c) Is the collision elastic or inelastic? Justify you answer with some sort of calculation.

2: (:5

A thin rod has a non-uniform density given
by 4 = (4.00:2)x + (3.00-2) and a :
total length L = 5.00 m. It is rotated about lE z

L
an axis located at L/5 as shown, where x /5
= 0 is the axis of rotation. X=0

(a) Calculate the moment of inertia, clearly showing all steps to receive full credit.
(b) Calculate the total mass of the rod.

(c) Is the MOI of this rod larger or smaller than that of a uniform rod pivoted about the same
axis? Justify your answer.



ong, Answer |
;’K" g FEES Tfan 5[3"':0)')9’ mom@qﬁlh i5 éﬂ”%ﬁfggj

1;5‘“/!’—“00 (750
- | The cors dfick Toae ﬂ:ef‘wwacan

; fredt the finsl stfe 25 ore bedy with mags = Iy

a -
) F F F?’} 7FA’“FBX'F"?»1%JP”+FB}/
Now fé@i 'ﬂ’)&"/’ )0
X5 MVawi * M= (gt \/a.,,,,c AN (nwmg
-43[
(Y1,V/, cosH0" 11, (-5in75)= g e TSI G,

fins|

mA\éuéoj Ho’~ mBVBl 5"’) 75 mAV Sin Yo’ -HY)B\é 05 75

e = V.
ﬁg‘x mA < I’Y)B ?’Z;‘y m £ MB

[ V. s = (—2.40 ~+10.8 J) W,‘/Sl

b)\'\/eua”)ﬁd‘/‘keav&f forze o) .
impulse = momenty, re/aﬁiihf,o gt L e

E\;;m AT = Af’a
S’EM A+ = FBIC —le
E\émA-l-—_ mB —\7?:; —m5VBI
- M /s o4
F:;u, = L.T:(Vﬁ;’ - \/B’)_'A’f ﬁ'ﬂﬂOf*lO 8‘1% "(—Va: Sh75‘,‘+\/5¢q>75.\>}

wu 1k
R}
i
T
I o
Q0
"D (g
—>
3
o0
23
N
~
=




Long Answer 1

) Becoue e alisio s /a%%[ﬁy relastic: (e the cars shick fegetha-),
we. lonow mechanicd| eney s lost, We'e askesl for 5 cokulstion
L)owa/ef 50 we COM}ow/a ;%& ;V}I7L19 | ond ﬁh@/ leinetic mi@eg

K=t M = 6OOLT
I’<.F ZI{MA mB>vcafs 2(mA4mBXme+\/m ) IQQ N

fl el

M S0 H’)& colli 5107 wes nelost /‘é./)




LoVB ﬁYcEsWef‘ 2

pa
@ A= (100 )x + (300 )
2

L= 5.00my

l
i

) The density is honwiifit, 5o we. frave fo mfeqrste.
L= j rclm

XOa'['ﬂ-,gax,s 5or =x" Wée)??@i}ojmaj %o/x
ﬂ""fegﬁ'e Pom end T end.

H L/5

I= j‘f“o]h’) 5 “[th00 x+(3.008 )|k

5 [(‘/oo.%ﬁx +(300 @x]
T [(,ooﬁ)x +(/.oo-',$9>< ]J:jm

)E= 320 lzgmj

b) L\/@ Ca Q'f?; -ﬁ'f/ 715—}-9} wpss é’ lv;'/'esyg'ﬁyg up o]yv)

/5

M= é;o)m = S?«,olx “‘Iop%’)xw‘@oo)@)]cjx

"l/j

/V\=[(2.oo ﬁ)x“f (3.00 ﬁ)x]/hﬁ




f, Lor.9 Prgwer 2.

C)IQ c»()oecl’ e ML o+ s nd To \vin out, sine mest
of s mass is 99’%5@4 Pr fow, The oxis, That sod, we cn
Compare, humgr;paﬂy W the tnifofin  C3%€, \]u{f‘ P be o
The 7551%5’} way b e T 15 Wing ﬁa )Oafa//g/ b
we know et T=aM> Fr 5 nd wilh s ais
H’m’f}h s Mio‘f)oi'ﬂ“, od oW new oxis is 31 5 listnee
A= 151 sy fiom e iy

L= m M g Skl m) s 15 L),

1=195 kg -m”
Swp”ef 'H’)B’) ﬂ’c 320 159"”’2 Tor our nonwifor,, Pd




3:

A modified Atwood’s machine consists of a block of mass m sliding on a rough table with kinetic
friction coefficient 0.5. A hanging mass 3m pulls it by a massless string. The string passes over a
pulley of mass 2m. The pulley is a uniform disk of radius R. There is no slipping or sliding of the
string over the pulley.

It is required to draw all relevant free body diagrams for the two masses and the pulley.

2m m
fo

3m

Find the magnitude of the acceleration of the system when released from rest, as a multiple of the
gravitational acceleration g. Also find the tension in the vertical portion of the string and the
tension in the horizontal portion of the string, both as multiples of mg.

4:

A long thin rod of total length 4.00 m is pivoted 1.00 m from the top end. It is Ok pivot

hung vertically and initially at rest as shown. The rod has a non-linear mass

density given by 4 = (3 + 15x%) kg/m, where x = 0 is at the pivot. A small
piece of putty of mass 0.200 kg is shot horizontally into the lower end of the rod,
striking it with a speed of 20.0 m/s. The putty sticks to the rod.

a) Calculate is the moment of inertia / of the stick about the pivot. putty

O —
b) Calculate the angular velocity w of the stick the instant after the putty strikes and sticks to it.

c) If you were asked to find the maximum angle that the rod/putty combination would make with the
vertical after the collision, explain in words how you would solve this problem. Do not actually solve.
Maximum 3 sentences.
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5:

A long uniform horizontal rod of total length 10.0 m and total mass
150 kg it attached to a wall by a hinge (pivot). It is supported by a / 65°
wire attached at 7.00 m from the hinge. The wire makes and angle of
65° with the ceiling as shown.

The maximum tension allowed in the wire before it will break is
2016 N. You want to glue a block of mass 60.0 kg on the rod as far

p—

away from the hinge as possible.

\/

inge I—I

glued mass

a) Calculate the maximum distance away from the hinge that you
can glue the block before the string breaks.

b) When the block is in this maximum position, the string breaks. The rod/mass
combination swings downwards, starting from rest. Find the angular speed of
the rod/mass combination just as they reach the vertical position.

A bullet of mass m is shot with an initial speed v, into a block of mass M that is initially at rest. It
collides and sticks inside of the block. After the collision, the bullet and block combination
move up a frictionless hill to a height h above the ground. Once at the top of the hill, there is
a rough patch with uniform friction characterized by the kinetic coefficient pi.

Friction patch

— ¥ _

How far does the bullet/block combination travel through the rough patch before coming to
rest? Write your answer for this distance z in terms of only the variables m, M, v, h, px and g.
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